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=2 5,645,766 5,042,871 602,895
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2 17,035,060 14,208,501 2,826,559
s 926,000 0 926,000
= 750,000 750,000 0
ot RIS U5t 427,930 326,044 101,886
[ 12,900 12,400 500
2 415,030 313,644 101,386
OrM 23t 25t 275,968 279,068 A 3,100
[ 12,900 12,400 500
2 263,068 266,668 A3,600
OE2I2E 7,076 9,200 A2,124
(= 2,076 3,300 A1,224
2 5,000 5,900 A900
201 LBt 6,400 7,700 A 1,300
(= 1,400 1,800 A 400
2 5,000 5,900 A900
01 AF2 22| H 6,400 7,700 21,300
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2,0002 *2,3508 4,700 6,000 21,300
[= 1,400 1,800 A 400
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301 Yt A2 676 1,500 A 824
[= 676 1,500 A 824
09 BALAIH| X2 2 676 1,500 A 824
O(sat)otEgorn 29 676 1,500 A824
— AlH 8,0009 67 536 1,200 1664
(= 536 1,200 1664
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LEFEA HAY AX 24,350 24,350 0
[= 6,300 3,600 2,700
2 18,050 20,750 22,700
401 AlEHIZ 20 24,350 24,350 0
[ 6,300 3,600 2,700
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01 Al&HI 24,350 24,350 0
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< 6,848 5,400 1,448
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301 LEPEXZ 1,000 0 1,000




AN THE A
S ASIHE Ol 2O
2l THoH AFX CH Y|

010

SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&

= 500 0 500

=) 250 0 250

= 250 0 250

09 HALAHIXI &3 1,000 0 1,000

OHALE A 2a= 8,000& x125H 1,000 0 1,000

= 500 0 500

< 250 0 250

[ia 250 0 250

Mol & T =7 s 235t 14,038,619 11,110,230 2,928,389
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= 750,000 750,000 0
St S X el 10,293,361 9,338,605 954,756
= 1,200,000 1,464,000 A 264,000
z 8,343,361 7,124,605 1,218,756
= 750,000 750,000 0
HNBEAGHAE FH (HE)(HEAY) 1,212,404 1,178,000 34,404
1 A& H L2 1,212,404 1,178,000 34,404
01 Al&H| 1,212,404 1,178,000 34,404
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z 560,852 52,500 508,352
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< 27,000 11,000 16,000
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= 29,000 13,000 16,000
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02 Al - SHIZEXSEHES 104,810 13,390 91,420
OOtLHAXI 2 =2 B ALK AL 90,000 0 90,000
Q20218 HHUS M= 1,030 0 1,030
020214 It M O &I & 700 0 700
OMHt 2 AN MEH =D 40 0 40
ST Ha4E &X 0 600 A 600
02021 oM 2otk 250 0 250




